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Fig. 6. Experimental dwell time histograms for recurrent backstep dwells (a, b). Terminal backstep dwells 
(c, d) and extended dwells (e, f). In all cases, [BeFx] = 1 mM and F = 3.8 pN. [ATP] = 2 mM in panels (a, 
c, and e). [ATP] = 20 μM in panels (b, d, and f). For reference, a single exponential curve was fit to each 
distribution. The single outlier in (b) was likely caused by a terminal backstep that was improperly 
classified as a recurrent backstep, due to concatenation of pauses (see above). 


